=T LTA—RABHE

SF5F2/198(H)
E 6| K £ vl 4 > | =% | HDCP | #Hubk 7
& B b= 41 41 82 10.8 71.2 300
R mAx F8 35 40 75 3.6 71.4 200
33 ER K& 43 37 80 8.1 71.9 150
441 i sk 40 38 78 4.5 73.5 100
541 Fl RE 39 41 80 6.3 73.7 90
611 il N 2 42 41 83 9.0 74.0
74z &k F5 41 42 83 9.0 74.0 75
813 N 44 41 85 10.8 74.2
9fz wH F] 46 41 87 11.7 75.3
101 INE  IERR 47 41 88 12.6 75.4 75
114 BIR EF 47 42 89 13.5 75.5
1243 g HE 43 47 90 14.4 75.6
13fiz Ak BEZ 45 40 85 9.0 76.0
14431 FH BE 43 42 85 9.0 76.0
154 ik BRI 40 45 85 9.0 76.0
164 EilR  HE 46 45 91 14.4 76.6
174 e - 43 41 84 7.2 76.8
18{iz NE HE a7 46 93 16.2 76.8
194z 4H 45 45 90 12.6 77.4
201z Bl RE 46 46 92 14.4 77.6 45
214 Ki# =R 44 40 84 6.3 77.7
2241 WZE  FRED 43 51 94 16.2 77.8
234z NS 45 43 88 9.9 78.1
2441 BHE EX 44 39 83 45 78.5
25 BX HC 47 47 94 14.4 79.6
261 #IR BEx 56 56 112 32.4 79.6
27131 NE 8 43 44 87 7.2 79.8
281z h% M 45 45 90 9.0 81.0
291 B REA 44 46 90 9.0 81.0
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SM5FE2H198(H)

g 2 | K £ Tk 4 > | =% | HDCP | Rvk 7
301 AR #RE 42 48 90 9.0 81.0 45
314 B = 48 48 96 14.4 81.6

321 f[Ep  EER 57 58 115 32.4 82.6

33fi KA #H— 50 48 98 15.3 82.7

344 =EH & 49 49 98 15.3 82.7

354iz Hix JAX 50 42 92 9.0 83.0

361z FRIE =RE 46 48 94 10.8 83.2

371 ZK EE 44 50 94 10.8 83.2

381iz RE s 48 45 93 9.0 84.0

394 MR ESh 43 45 88 3.6 84.4

40131 =k A 45 46 91 6.3 84.7 45
A1fL BR REE 56 46 102 17.1 84.9

42431 WE E# 48 48 96 8.1 87.9

4343 FE —F 48 48 96 8.1 87.9

AAfS =F BX 51 46 97 9.0 88.0

BBE B - 49 48 97 9.0 88.0 75
4611 R =L 54 59 113 19.8 93.2
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